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Module Name : Economics
Exam Date : 15-Feb-2022 Batch : 09:00-12:00

Sr. No.

Question Body and Alternatives

Which one of the following is not a property of Indifference Curve ?
B LD 6 ([HEUETEUMMIGT 678 FLOGHTEH G QU6M6TE| G8ITL Q60T LIG00TL|&HE& QUITIBIHS TS ?

A : ICs are positively sloped — (Correct Alternative)
FLOCHTEHG auenere] CHMT(H eTeoTLISE S HH S CLoev CHTHHF ClF6LaILD
B : ICs are Convex to the origin
FLIOGHMTSH G auemere] CHT(H &allbg @) IHssELD
C : ICs are not intersecting
FLOCHMTHG UeM6Te] CHT(H 60T6MM 6260TMI GIAIL_LY & Q& TETATMSI
D : A higher IC represents a higher level of satisfaction

FLOGHMTEH G alemere] CHTH&EET GLnev CBHITEHES QEFuINCLMTSE AUH S H(HLS WS
Q&ETH&HGLD

The producers often take advantages of consumer surplus when setting price :

2 MHUSHWTeTT eflemevem L BlTevor W& @GIDCLIMTS! HIGTCeUTT 6TF&FS 3 60T eLN6VLD 6T6) 6l MM
LW esTemL STy ?

A : different prices for the different product
LILGeum QUITIHL S5 EH5H G LILCeum ellemeuds et
B : different prices for the same product — (Correct Alternative)

@G QUTIHEHEHEG LILCaum ellemsvas 6T
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: same price for the different product

LeLCauM QUMIHL&HEHHEG G allemev

: none of the given options

@ 6m6l g&iL06L6m6V

The compensation principle was introduced by :

() Q&FUWIWLD Q& meTendWilenerr oMlN&LILMGSS U6UTEET :

A

Harrad - Domard - Samuelson

QNI ML-GLITLO - FMLNG6U6L&F 60T

: Adam Smith - Alfred Marshall - Scitovsky

QL 1D 6VLAG - 9LLLINTL IDMTaq6L - 6V B GL M &l

: Kaldor - Hicks -Scitovsky — (Correct Alternative)

SMTVLT - MG 6N - 6V B CLTerv &)

: Hicks and Pareto-Kaldor

Ml &6 - GUIFLGLIT - HMTeVL[T

The probability distribution means :
Bl&HLDS 56 LITEU6D 6T60T LIS :

A

Possible outcomes of an event are listed — (Correct Alternative)

TRTUMTSSLILLL BlSHLD6&6T LBISR W &5TGSLIL

: Possible outcomes are not listed

TR TUTTHSLILIL L Bl&HLD6|&H6T L BISHTS QS5TESLIL

: All the outcomes are possible

S|METHSILD THTUMTSHSLILIL L [B&HLD6Y 6T

: All the outcome are not possible
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I|METHGILD TH TUMTEHSLILLITS Bl&HLD6 6T

Edgeworth Box explains :
6T 265 LIMTE6MN 6TETLIGI 675 6m60T leTE GRS

A : Exchange of utility between two individuals

Q@ BUFlemL GUIWIMeT LIWeTUTLemL LMMHMI& Q& MeTelS!

B : Exchange of labour between two individuals

Q@ BUTS6MlemLGuwmer 2 enplilement LOMMHMIH Q& TeTeUS!

C : Exchange of Capital between two individuals

@ GBBLUKemLGUIWITET (NSHem6V LDMMHMIS C&meTeuS

D : Exchange of goods between two individuals — (Correct Alternative)

@ @® BUflemL Guiwimet ListoTL LOMMHenm SMILLNGS ma
If the price of the product equals to Average Total cost (P=ATC), the firm in Perfect Competition earns :
Blemme Ll GUITLIGUN6L OIS &TeLEH 6V BlMIeleTs S 60T GILIMHerfleor aflemev QLTSS
FrnsFf]l QFa6|&E FLOLTS @) (HIHS TV, [HlMIGIETLOMETS :
A : ABNORMAL PROFIT

Ul @evmLGHems FL_(hLD
B : NORMAL PROFIT — (Correct Alternative)

@ uwevl] @evTUSHNS L (LD
C : LOSSES

BEYL S0 FHS &ESLD
D : SHUT DOWN its PRODUCTION TEMPORARILY
SMHHTO&HEINTS 2 MHLSH LI &HenEMW BlmISS 66Ud G L0
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Choose the wrong statement from the following :

(a) Discriminating monopoly : A firm which charges different prices to
different customers for the same product.

(b) Bilateral monopoly: A single purchaser with competitors buying from a

monopolist seller.
HlsiTex (I eueTeUmMMIeT HeUmmansngd Gaije| C&ls -

(@) Geummienio &M (Kb (ommiflenio : @ Himeusrd GCleusiGeaimy
QUM HENHILTEMISHEHSGID ClauciGaum) alleneuenill HIFeumilsHse0.

(@) Quaos  (pmmifleown @M Heofl  QUTHIGEaT6H
Gum g wimengniL_6ir (pmMmIflenLowimemilL Oi([BhS! Mm@ S60

A : (a) only is correct
(a) only is correct
B : (b) only is correct — (Correct Alternative)
(b) only is correct
C : Both (a) and (b) are correct
Both (a) and (b) are correct
D : Both (a) and (b) are not correct
Both (a) and (b) are not correct

A monopolist sell the same commodity at different prices to different buyers and this act is known as :
wmoiflemn GUTLIQ U6V e MLIEMEOTWITET TS 6T G QLIMHeM 6T QeuslGalm H&HTCaIMIHEH G
QeueuGeaum ellemeuiilev eNlMLIEM 6T Q& UG EOTMEITT 3| &HEDIET ... 6TEOT M T MG .

A : Pattern of the society

FONSHSF60 (LD
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: Taxation

aifl & LI

: Price discrimination — (Correct Alternative)

aflemev GLIBLD

: Real cost

9 _600T60L0 G F V6

The Economist who first used the 'Kinked Demand Curve' is :

SGBLILIWMM (G 60 L (LDMIG6TET) GFHem6U aUem6TCETL .60 (D& 6916V LIuledTLI(h & & W
Qum@erflwevm@h :

A

Joan Robinson

@3 meoT T [7ITLI 60T & 60T

: Chamberlin

@& Lbuyed 6ot

: Paul M. Sweezy — (Correct Alternative)

LIm6L eTLD. ervefad)

: Edgeworth

ILETS

A monopolist sells a portion of his output in a foreign market at a very low price and remaining output at a high price in
the home market. This process is known as :

wmhoflenwwmery 2 MHUSHUIN6T 2(H LGS 60 W eVBTL () SIS TIUI6L & 6emmeumeor
allemeV& G LD LIS LN6TET 2 MLSH e Fa(hF6L allemevs & 2 6THITL () AmIsTIgUlev ellMLiemeor
QF WD QFW6VLNEMM :

A : Dumping — (Correct Alternative)

GSHS6V
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: Second degree of price discrimination

@uevorLTLD & ellemev GLISLD

: Simple monopoly price discrimination

Frgmyeoor (PHMiflenin allemey GLISLD

: First degree discrimination

WSV &IJ aflemev GUGLD

Oligopoly is a market with :
FHenguillev FlevBeury WMMIflenLn 6T6oT LIS

A

Two Firm seller homogeneous products

@G HETeNLN Q&TeoTL QUITIHL&Hem6T allMLiemeot Q&F Ul @ M LI6m 60T U6y

: Two firm seller and hetrogeneous products

LeSTLILL L QUITLSemeT ellmLemerr G aFwiwb @ ap elMLIeneoT W ey

: Few firms sellers and homogeneous products — (Correct Alternative)

@G HETenLN Q&TeooTL. QUITIHL-&Hem6T allMLIem6T Q&I Flev el LI 60T W e

: Few firms sellers and hetrogeneous products

LIS TLILL L SeTennG & Metor QILIMIHLS6emeT allMLIeneT Q&b Fev ellMLiem et Wmer [y

What is Gross Domestic Product (GDP) ?
QLTSS CHAW 2 MLISGH) 6T60TLIS! 6T60T60T ?

A

B:

The market value of the final goods and services produced in the economy within some time period — (Correct
Alternative)

LI600T L_MI&6T LoMMILD Lieool1&6rf16oT QNS S 2 MLISH UN6T Fhems DS LIL|
Gross value of output from agricultural sector.

afeusmws Slemmuie QUTES 2 MUSEH G LIL]
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Gross value of output from industrial sector.

Qs mPlLgIem MU QLTSS 2 MLIGEH DG LIL]

: none of the given options

@606l g&IL06L6mI6V

What is net investment ?

Bl&T (NG&65(H) 6T60T TV 6TEOTEOT ?

A

Gross investment minus depreciation — (Correct Alternative)

QLTSS (NG5 19.60 G UILDITETF QFVemals &G TV H6tL_& G LD

: Gross investment plus net investment

QLTSS (NHSHG6T BI&HT (LNSFHESL 60 Fanl 19.60TT6V HlemL LIS

: Productive capacity of the economy

QUTIBETMTHTISH 6T QLOTHS 2 MLISH & F)meor

: Net investment plus gross domestic product

Bl&T WSS (HIL6T QLTSS 2 MHLSHemMUE Sl LQ60TTeL FemLLILIG)

In calculating national income which of the following is not included :
GHF W QUIHEUITUI &H6eooTsHB L1960 HLb 2 _aTemaummleL 678 C&F &8 LILI(H6UTH 6066V ?

A

Wage and Salaries

F69 LDHMILD FLDLIGTLD

: Interest and profile

QUL_LQ LOMMILD 6VITLILD

: Retirement pension — (Correct Alternative)

U6 26THUILD

: Rental income
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GUITL60)8 QUIHEUITU

Choose the comect answer based on statement A and B :
(A) When income increases, the MPC falls but more than the APC
(B) When income falls , the MPC rises and the APC also rises, but at a slower

rate than former.

A wmmib B sanmisssners Glamsmr() sflumear eflenLenw Caimbols(H&sayb :

(a) su(mHLomesTLD 2 wiHGurs MPC (Henmu|b gy ermev APC spw el 2ySl&sinms
BoeE

(b) su(pLLTeeTD (Hemmu|bGurgl, MPC wmmib APC syflsfléEd auermev APC
Q6781 MPC emwiellL (semmeuent siss5160 @)(ma &0

A : A is correct but B is incorrect
A FflWLIMTETS 9L,60TIT6V B SaUMITEOTS)
B : A is incorrect but B is correct
A SeUMTETS 3L,60TMT6V B FIflWmenTss
C : Both A and B are correct — (Correct Alternative)
A LDMHMILD B @ revor(hiLd &Fiflulmeots
D : Both A and B are incorrect
A LOMMILD B @) 7600t (HILD &H6UMTeoTS
Simple income analysis is .
eTerflUl QU(HLOITEOT U6 6TEOTLIS

A : Macroeconomics — (Correct Alternative)
Gufluey QUITIHETMTSITFLD
B : Microeconomics

151600600 1 LLI6L GILITIHET TS TILD
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C : Monetary theory

Lieooredlulev GamL_LIm(@)
D : Investment theory

WSS BH& CamLum@)

Propensity to consume is

B&T6) BITLLLD 6T60T LIS QLG LD.

A : Investment function
WsSLH\& FmyY

B : Average propensity to consume
Frn&ifl BIsFe| HTLLLD

C : Marginal propensity to consume

QoIS Blenev BIGF6Y BTLL LD
D : Consumption function — (Correct Alternative)
DI&Te|F My
Who said "the stability and unstability condition in the Form of linear diagrams, through the cycle is only possible" ?

"Blemevs &etTemLn LDMMILD BlemeVMME S 6Tl Blemevuilev, CHIEHTL(H euemyLLGLD
FLOHFIUWNL FrTEHHUILD" 6T60T FamIWS!

A : Nicholos Kaldor — (Correct Alternative)
B8 C&HMeVEN &HITGULITI

B : J.M. Keynes
J M. G60T6M0

C : Friedman

e gL GLoedT
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D : Goodwin
&L eor
The Phillips curve examines the relationship between :

L erflLien euemerGa () Lil6dreu[HeusoreumMmIedr QG MTLJenL SLUle] QF UK TS

A : The rate of unemployment and the rate of wages changes — (Correct Alternative)
GeauemevwileiremLn e F &5 H MG LD, G069l 615 &0 MM V15 G LD
B : Unemployment and wage rate
Gouemev Wl eTemLn & &0, F06918 & LD
C : Unemployment and money
G666V UWI6ITEN LN & G LD, LI600TS H M G LD
D : Unemployment and investment
Geuemeu Uil aiTem 0 &G LD (LNSESL 19 MG LD
The IS Schedule reflects The equilibrium of the :
IS LI 1q U6V L edTeU(BLD 6TH G I MIG T U6 FLoBlemevemld ST (HHeTmS ?

A : Money market
L1600T | MhI&ITLY
B : Capital market
eLDGVL S 60T | MBISITL
C : Product market — (Correct Alternative)
2 MHUSH MBSTL
D : Share market
LIMGI@& MBISHTL
Hawtrey's Monetary theory is one of the :
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eIl Cruilest Leoorgs Ga LM LledTeuhld e C&HMLLIML LG 60T (N&HIW GHTL LML TEGLD :

A : Classical theory of money
QS MeoTemLOLI LI6voTd G&HMLLIMT()
B : Neo classical theory of money
SMHHIMTEL Q& MTeTemLD Li6tord C&HTLLIT()
C : Traditional theory
LiLpemLowlmeot G& LM
D : Modern theory of Business cycle. — (Correct Alternative)
SHMH&HMTEV aUMTeolILIE @Lp6ev GamL_LIM()

Cost push inflation caused by :
Q&6 2 [h3 Licoorelsan gFmLIL (LNESW &HITFeoorLD :

A : income increases
QU(HLDITEOT S &If1LILITeY
B : wage increases — (Correct Alternative)
F0.60 1S &0 HSIFILILIMEL
C : demand increases
Cxemeu F\SIflLILImev
D : capital increases
eLNEV S 60T B S IflLILIMTEY

determines the position of IS curve.
IS eUEMETG&TL LY 6m60T SITLOMT60T & BTN S :

A : Government Expenditure — (Correct Alternative)
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STF T QF6v6
B : Private Expenditure
Seof WM Q&F6vea
C : Rate of interest
all1g NS sID
D : Money supply
LieooT yerflLiL
Liquidity Trap refers to :
Bremwn QU] eTedT LIS

A : Minimum Level of interest rate — (Correct Alternative)
GODHS S6mey eullg el &S0
B : Total demand for money
QLTSS LI6oors G emel
C : Total wealth
QLTHS GF6VaILD
D : Precautionary motive
(WTQeTESFflGems GBS
Speculative demand for money was profounded during the period :
WL8s Lisooredlel S ITLLIMH 2 (HeumsasLILIL L o,600T(H) :

A : 1940 — (Correct Alternative)
1940

B: 1959
1959
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C: 1968
1968
D : 1969
1969

Transactive Motive can be split up into :
LUfeui& 5 6emer GBITEH LD 6T60TLIE6060T BLh& & 6v0T Leumml LI flé&e6uImid

A : Income Motive and business motive — (Correct Alternative)
QU(HLOIMeoT GBITEHELD LDMHMILD 660l GHMTEH SN
B : Saving Motive and Interest Motive
Gailliy CBM&ssLD WMMILD el 1q GHMTEHE LD
C : Investment Motive and future holding Motive
W&65H CHMEHELD LDMHMILD THTSMeV emauLlil] CBHTE LD
D : Subjective Motive and Objective Motive
358 FHTyeool] GBIMTEHELD LDMMILD LIMEETTeool] GHTEH S0
According to Baumol, as income increases, transaction demand for money also increases but :
LI6ULDMES 60T G HMILILILY., QUHLOTEOTLD S (HLDBUIMEI LI6ooT LDMTMHMIES CHem6U Fa(hlLD 24, 60TIT6V :

A : Increases at decreasing rate — (Correct Alternative)
GMDHS Seralley B & 16D

B : Decreases at Increasing rate
B & 6meil6) GenmuLd

C : Increases at an Increasing rate
AFHCaUHINTEH AH &8 G0

D : Decreases at an Decreasing rate
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GBS Hemailey GenMULD

High Powered Money refers to :
e s F&G) LIGooTLD 6TedTLIS

A:H=C+HR+PR
H=C+HR+PR
B : H=C+ RR + ER — (Correct Alternative)
H=C+RR+ER
C: H=C+RR+HR
H=C+RR +HR
D:H=C+PR+ER
H=C+PR+ER

According to Patinkin, when price level changes:

GUILY6THR T B MMILILIL, ell606V 6me) LDMMIINGUITS :

A : it affects the demand and supply of goods — (Correct Alternative)
QUIMTBLS6fletr Gemeu LDMMID 6rflliL] LUMSH&@LD
B : it affects the income and expenditure of consumer
BI&STCaUMHledT aU(HLOMeTD LDMMILD QF Ve LUTH &G LD
C : it affects the investment and Saving of Business
UGS HSH 6T (NSH65(H LMMID CFLILIL UTH&GLD
D : it affects the Saving and income of the people
10&&6ler G&FLALIL] LOMHMILD GUBLOMETD LITH &GLD
An International Monetary system is a tool
LieoTeoT T () LieooTal L6 3{emLDLIL| 6T6T LIS @@ Hme :
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A : For effecting internal payments
2 aTHTL() QFNGHS Blemevenl &Fifl Q& ulu]LD
B : For effecting international payments — (Correct Alternative)
LieoTeoT TL_(h) Q&S G! Blemeven il &Fifl Gl uluwLD
C : For effecting internal as well as international payments
2 aTHITL () MO LieTeoT T () Q&S G Blemevemnl &Fifl Q& uIu|LD
D : For effecting internal debt
2 aTBTL( SLemer Fifl Q&wluyLd
A quota is type of :
LITGIS6IT6Y 6T60TLIGI @)&6060T FMTHSH S

A : Qualitative restriction
ST&HEL_HUUTh
B : Import
QM&GLS)
C : Export
JHDOG)
D : Non-tariff trade- barrier — (Correct Alternative)

FmigGeUfl FTIT eumevoflLILD

EEC stands for :
EEC 6T60TLI S @) 5606078 GMISHR M

A : Eastern Economic Community

PG G CIUITIHETTSTT 6U@GLIL
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B : Equal Economic Community
FL0 QIUITIHETTSTT aU@GLIL]

C : European Economic Community — (Correct Alternative)
oCIMLILIW QUTHETTSITT 6U@GLIL|

D : East European Community
PG LCrmULlW eu@LIL

The term NIEO stands for :

NIEO eTedTLIg60T el fleuma&sLh :

A : New Internal Economic Order
LS W 2 6THTL(h QUTIHETTSTT 6oL
B : New Internal European Order
US W 2 et (B Crmililw gjemoLliy]
C : New International Economic Order — (Correct Alternative)
LS\W LieTeoT (B QUITIHETTSTT 3jemLnLiL]
D : New International European Order
LS W LeoTeoT T (h G mLILIW ojemLnliL]
The effects of a Tariff under partial equilibrium analysis relate to :
LUGHF FLoplenevd @Lpedlev &mig euiflgerler alleneresHeT QGMLTLemL WS :

A : A small industry in small countries — (Correct Alternative)
F il BT serflev Ml Q& TLEOMHE mem6y

B : A big industry in small countries
F il B serfley Quiflu Qs mHaFmemev

C : A small industry in big countries
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Quiflw prp &serfley Sl QT mHFmemev
D : A small industry in developing countries
eI B BTHh&eTflev Sl Q& mLlHaFmemnev

The main functions of International Bank for Reconstruction and Development (IBRD) is :
2 V5 UBIT U 6T (LS LI6ooT 86T

A : Providing Finance for Import and Export Activities
gHMIG LDMHMILD @MEGLE S G Lietor 2 &6 Q&S5 60

B : Providing Assistance to large scale industries to developing countries
QUETIHSIIHLD BTH&HEHEHEG QUIBHOSTLHINHEHH G 2 56l Q&FU1%560

C : To Assist in the small scale industries in developed countries
aleTiHS BT &efleor FlMQsSTLLHEDEH G 2 56l QFUIs560

D : To Assist in the post-war reconstruction and development of the members countries — (Correct Alternative)
@ UeooTLTD 2 eu&LICUMHESES LIM& 2 68 eum G ulletr 2 miliL] BT(H&HEHEH S
LDMIFTemnLiL] LnMHMILD (PeTCTMMHH M S 256l QAFUIG6

The causes for the growth of Public Expenditure in a country is :

(H BT Q60T QUITSIFQFE] SIH &L DT &ITIF600T Mg 6T WITem6 ?

A : Welfare State
VLD GLISTDILD &+
B : A Large Public debt
ST & QUTS! &L_60T

C : Modernisation of Agriculture

BHefeorouwllnmeor efleus mulLd
D : All the given options — (Correct Alternative)
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@) M6 EMETSHSIN

A Burden of Public debt in India are :
@ bS Wmalley QLTSI &HL60T Fremln 6TelaI TN SeMNTF MG ?

A : A rise in taxation — (Correct Alternative)
auflellBBHms AP &ILIO S 6uS
B : No direct and indirect money burden
GBIJ(NG LDMMILD LDEDM (LN LIGIOTE &6DILD @)6V6VITEMLN
C : Irregular interest payments
WenmLILIQUIMHM eIl 1) QFNSSILD Blemev
D : Debt trap
&L60T QI

A Redemption of Public debt consists on :
QUM &8 L6tT H(HLILNWerl8 860 6eTedTLIS)

A : Capital Levy

LDV S 60T G &F 8IS SIS 6V
B : Tax

curfl
C : Repayment of debt — (Correct Alternative)
S UL QFISSID 8L 60T
D : Aggregate demand
QLMEsE CsHemel
The Principles of Public debt Management is :
QLM &85 60T GLD6VITE0TEMLOUIN 60T Q& T6IT6m & 6T60T LIS
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: Investor's dissatisfaction

SHLUSWMM PSS LMTETIE6T

: Capital Market

eLDGL S 60T FIH6N S

: Minimum interest cost — (Correct Alternative)

GOMBS QL 19F QFeVa

: Interest Rate

QL1 & 50

The control of Public Expenditure is :
QUME QFevallmasmer &L (B LILIMH 6T6oT LIS

A : The Parliamentary control — (Correct Alternative)

LUmTImeEBLeTrm &L GUUM(H

: Direct Control

GBI &L (UuUm@

: NFIs Control

BIS BloieueTmigefleeum &L B LUTE)

: Non-Executive Control

QEFwWeLITLMM SLG UM

Which one is objective of Public debt ?
6TIH S 6R60TMI QLIMSIS &L 60fl60T GBITESHLIOME 2_6TETSI ?

A : To finance development plan — (Correct Alternative)

QeMTIFSF HLLEHHGS BISweflliusg
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B : To reduce education and health services
&Heval LDMMILD &&THTT L6085 6em6T GemmLILIG)
C : To spend unproductively
2 MuUSHUlemer IMSH g 5H 60 QFaval(H el
D : To increase inflation
LIcoore 88 8 5 em6oT S FH & FILILIS
R.N. Bhargava discusses fiscal federalism within the framework of economics.
QLIJ.6T60T. LUTFSHUT BIFH Fnl LILFledW  QUTHETTSTILD 6T6e0TM 6mLOLIL]
FLLEFMGS6TC6T 6dl6emdh @GR M.
A : Public

QUmsl
B : Fiscal

BIG)

C : Welfare — (Correct Alternative)
b6V
D : Monetary

LI1600TLD

was only the first step towards Provincial autonomy.

LMBleV &WTLS UL (P&6L SIS leTmh@GHeUS 3L, &LD.

A : The Government of India Act of 1915
@QBH W ATFMHEIS FL_LLD 1915
B : The Government of India Act of 1917
QBH W STFTHIS FLLLD 1917
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C : The Government of India Act of 1919 — (Correct Alternative)
QBT S TFMHIS FLLLD 1919

D : The Government of India Act of 1935
@BH U TFMHEIS FLLLD 1935

The chairman of Finance Commission was appointed by

BI5 & & weiler &emnevell) L6V Bl &&LILGSMTT.

A : RBI Governor

<20.19.83. S4,@B60
B : President of India — (Correct Alternative)

QBT W BeaTTH LS

C : Vice-President of India

QBB Sleneoor 60TTH LIS

D : Prime Minister
N7 HS

Centrally-Sponsored schemes should be limited as per the recommendations of the committee.
DSH W TFTL - LIGerflEHLUILL L S LIS Swaller Lflihglen s erleorLilg.
QeI WMSSILORMS!.
A : Royal

JITul6v
B : Raja-Chellaiah

TITET-GC & 6V6M6V LI UIT
C : Ramamurti — (Correct Alternative)

JTOENTS S
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D : Rangarajan
[T %1 &5 T &3 60T

become the first State to introduce Panchayati Raj in 1959.
1959 -1D QUL LD LIGHEFTUSSI JIT -83 (LNST(LNS VTS (NG QFUIS LOTHI6VLD

A : Tamil Nadu

SEILPBTH
B : Orissa

eflFm

C : Rajasthan — (Correct Alternative)
T ITE26M0 & T60T

D : West Bengal
GLOM G GUMIGITETLD

If taxation devices are insufficient to correct the imbalance between revenues and expenditure of the Regional
Governments the other obvious Solution is from the federal to Regional Governments.

aufl NS sl IDMBlev HTHR 6T aUIHEUTU LDMHMILD QLIMSIEF QF6vemeU &LO60T
QEWWTsSCUNMS ol LTSI ®mBS QumiD aIlWms Fifl QEuIWeuTLD :

A : loan

& L_60T
B : grant — (Correct Alternative)

BISIw| el
C : support

RSSIENPLILY
D : payments
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QFNIH S &6V 6T
In India New Agricultural strategy was introduced in the year :

@S wWmalley LS W elleusmu Q& meTend SmlWas LIl G SSLIUL L 3,600T() :

A : 1950-51
1950-51
B : 1955-56
1955-56
C: 1965-66 — (Correct Alternative)
1965-66
D : 1980-81
1980-81

A comprehensive Crop Insurance scheme was launched in the year

@hIGHemeorHs LUNT &MU (S S LD QSTLHBISLILLL gg_,,amr@

A : 1969
1969
B: 1975
1975
C : 1985 — (Correct Alternative)
1985
D : 1990
1990

The National Institute of Agricultural Marketing was established in the year
CxH W alleus Ml BlMIeU6T FHems BlmieuLILIL L 4600T() :
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A 1970
1970
B: 1975
1975
C: 1988 — (Correct Alternative)
1988
D : 1990
1990

The Authorised Share capital of NABARD was .
NABARD UG U607 e 0F &8 L1 L LITIEG eLN6VS 60T LD

A : Rs 100 Crores

€. 100 G&ITLY
B : Rs 250 Crores

€. 250 G&ITLY
C : Rs 400 Crores

. 400 G&ITLQ
D : Rs 500 Crores — (Correct Alternative)

. 500 G&ITLY

Kisan credit card scheme was introduced in year.
afleusmul SL6T L6l LD JMIWsLUILUGSSLILL L 3600T(H)

A : 1980-81
1980-81
B : 1998-99 — (Correct Alternative)
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1998-99
C : 2000-01
2000-01
D : 2005-06
2005-06
The world renowned agricultural scientist and the father of Green Revolution in India is :

2 605 LBLELIMHM efleusmwl ellehepmeot] LnmmID @B&H wmeller Lisenoll LTL A uller HHens
6T6OTMEM LN &S LI\ LIGUT :

A : C. Subramanian

C. &1y LD6ooT | Ul 60T
B : M.S. Swaminathan — (Correct Alternative)

M.S. &6UITLAI B T8 60T
C : Amartya Sen

IS WIT QFeor
D : Visweshwaraiya
alleruGeuerveu T

India has demonetized the select currency notes on 8th Nov 2016 for the :

SMILYLL Mg Lievor DSHILILINLILNemeor @B WM 8 HeULDLIT 2016 3{60TM)

A : First Time

WSLWEODUITE SOLLIG ST WIS

B : Second Time

@\ JE00TLITLD (N6 MUWITE LNVL(HSH WS
C : Third Time — (Correct Alternative)
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ELNEOTMITLD (LPED MWITEH | 6VLIRQSH WS
D : Fourth Time
BTEOTSTLD (LNEMUWITES LDV LI(H S H WS
Under Fixed Exchange Rate system Fiscal Policy favourable in promoting internal balance :

LIedTeoT ITL_ () [Bl6mY6VWLITEOT LIGoTLOM MM 655 8 G\ 60T eV BISH & QS TeTendH FTSHELNTET G F eV & Sl
FomBlemevenl LRSI :

A : True — (Correct Alternative)

&f]

B : False

Sell)
C : Partly correct

LGS Wwere &Il
D : None of the given options
@ 6m6l g&IL06L6mI6V
The first committee to use energy requirement as a criterion for defining poverty was :

QUMIMNGECHT(H auemTUlenm Q& W 2 _6vore] HBeVMflE CHemeusml (LS 6T (NG 6VITS
LWeTURSS MWn&D QFUIS & :

A : Dr. Chelliah Committee
LTHLT QF6V6m6VWIT & (WD
B : Dr. Ahluwalia Committee
LTSI svelmedlwm & W
C : Dandekar and Rath Committee — (Correct Alternative)

S600TCL& LOMMID TS G

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

57

58

57

58

www.Padasalal.Net www.Trb Tnpsc.Com

D : None of the given options

@ 6m6l g&IL016V6DI6V

The National Manufacturing Policy [NMP] released by the Government of India on :

GHHW 2 MHUSHWTETIS6T Q&MeTens @QHT W STFML gMHLMGSSLILL L 3,600T(H LOMHMILD
CxHH :

A

July 24, 1991
3O 6m6V 24, 1991

: July 31, 1981

T®6mev 31, 1981

: November 4, 2011 — (Correct Alternative)

HEULDLIT 4, 2011

: December 4, 2012

Q. &FLOLIT 4, 2012

NITI Aayog [National Institution for Transforming India] was established in the year :

NITI Aayog 6T60TMI 6eMP&HS&LILIBID TFH el gMUBSSHLILIL L 3L600T(H) LDTSHLD LDMHMILD
CxHH :

A

January 01, 2015 — (Correct Alternative)
seoteurfl 01, 2015

: December 31, 2014

Q&L 31,2014

: April 01, 2015

egJLIgev 01,2015

: July 01, 2014
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e396m6V 01, 2014

of the laws of production

2 MUSHESHTeT LHL allemere] llH &6 eTend &MILLIGORmS! ?

A

: Long-run analysis — (Correct Alternative)

Bevor_amev LGLILMUI6Y

: Short-run analysis

GOSN WISITeV LIGLILIMUIGY

: Medium-term analysis

BHHSSHTHMV LIGLILITUIGY

: Both short and long-run analysis

GOISRUISH TV LDMHMILD H600TL8Mev LIGLILIMUIGY

The U-shape of both the AVC and the ATC reflects
AVC LDMMILD ATC 60T U-6ulg6d auemeT@a&m(h eTems LIT&H L6 &SR me 2

A

: The law of variable proportions — (Correct Alternative)

Lrmib &5 5 &)

: The law of returns to scale

allemere] & & NG

: The ISO cost line

FLOCBHTHG QFVQ| CaHM(h

: The ISO quant

FIOCHTEHSG 2 MLSH Cam(h

Relation between Internal and External Economics is :

I&6F FHE6TID IDMMILD LMFIHE560TEHH 60 2 6T6T QIGMTLTL :
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A : Two degree

[T IT6IT6Y
B : One degree — (Correct Alternative)

R 3676
C : Third degree

RGO 66
D : Infinity
L eafleveuns sl
In cost function C=f(Q, T, Py, F) where 'T" stands for
QFeve] FmyLilev C=£(Q, T, Py, F) 6TedTLIH6L 'T' 6T6OT LIS

A : Time
&ITEVLD
B : Level of technology — (Correct Alternative)
QST BIL LI 366y
C: Level of trade
6U60011 55 2616
D : Amount of Labour
o _emLPpLILS 60T 3j6mey

From the following production function, find the marginal products of capital : (MPk) Q=L %75, K0-25 .

Fpsmeib 2 MUSEH Frrlemhe (&S @miE mlemev 2 MLIGH emUld (MPK) &IT600TS :
Q=L0'75. K0.25

A
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— (Correct Alternative)

In a short period, when marginal cost is less than Average cost, Average cost is

@@ GMIH W &TeVEH6, FITEfl QFvemauail @mIGBlensv QF6V6] &MelITSH
@ H&HGLEUNE!, FITEFH] Q& 6V TeTS!

A : Increases
& f&HGD

B : Remains constant
LOMMITLO6V @) (H&GLD

C : Horizontal

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

65

66

65

66

www.Padasalal.Net www.Trb Tnpsc.Com

LGS emLWITS @) (HSHGLD
D : Decreases — (Correct Alternative)
GenmULD
Quasi-Rent can be calculated by :

GUmeNeUMTLD SO 600TL UMM SHeoorsR L LILGSR S :

A : Total Revenue - Total Cost
CIDm& & 6(I,6UImIL - Crgs CFeue
B : Total Revenue - Total Variable Cost — (Correct Alternative)
QDTS S 61 (5 eUMmL - QIDT&HS LOTMILD ClFe0ey
C : Total Revenue - Average Variable Cost
Com& & 61 (I, 6L - Fomail Wrmih QFeey
D : Total Revenue - Total Fixed Cost
Com& S 61(, UMl - Crss WrmT CFeey]
Under Perfect Competition, the price of factors are determined by :

Blemme Ll GUITLIGu6L 2 MLIGS) SiTevoflserfleor ellemeveml SiyLomeotLILIS :

A : Demand for the factors
2 MUSH STTevollGerfler Cgeme
B : Supply of the factors
2 MUGSH &myevoflsefler el
C : Marginal productivity of factors
2 MUSS &Tesoll&erler @miS) blemev 2 MLISE) S)meor
D : Demand and Supply of factors — (Correct Alternative)
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2 MLSS STTevol|Gerletr CHemeu LMHMILD 6L

Match the following :

(@)  Abstinence theory of Interest (i Keynes

(b)  Agio theory of Interest (i) Wicksell

(c) Loanable fund theory of Interest (iii) Senior

(d) Liquidity Preference theory of Interest (iv) Bohm Bawerk

MNeiTeu(heusteumenmLl QUTHSHS

(@)  STSHCHTMME GHTLUT(H (i) Seirero

(b)  &meL eXl(KLILS GaHTLum(y (i) alld ClFsd

(€] SL6IT M&S Gamum(y (i) Feunliiy

(d)  Bsow eN@plus Gamum(y (iv) umb Gumealys

A 1 (a)-(iid), (b)-(i), (¢)-(1), (d)-(iv)
(a)-(iii), (b)-(i1), (¢)-(1), (d)-(iv)
B : (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
C: (a)-(iii), (b)-(ii), (c)-(iv), (d)-(1)
(a)-(ii1), (b)-(i1), (¢)-(iv), (d)-(1)
D : (a)-(ii1), (b)-(iv), (c)-(i1), (d)-(1) — (Correct Alternative)
(a)-(iii), (b)-(iv), (¢)-(i), (d)-(i)
Factor pricing under Perfect competition operates on

Blemme L GUITL.1quledr 2 MLIGSH & STiyevoflGertleor ellemev mlevorwD QFwevLI(HeUS :

A : The law of Variable Proportion — (Correct Alternative)
LMD NS GSTEFTT allemere| e &6t

B : Supply of a Product
QUL serfleor oerfliiL]
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C : Marginal cost
Qo plemev QF6evey

D : Marginal Revenue

@ MG Blemev aUHETLUI

Pure and Real Theory of Interest was Introduced by the Classical Economists
STW IMHMILD 2 eooTemLn eUifl G&ITLLITL 1Q60)60T Q& TedTemLD QLITHerflulev o mlehFaseT
aliflemnauwilev M WNSLILIGSH WGUTSHET :

A : Marshall and Pigou — (Correct Alternative)
LOMTJaq6L InMmmih LG
B : Keynes and Pigou
G eorerv LDMHMILD LN
C : Marshall and Keynes
LOMFa.6L LoMMILD §e6dTen
D : Fisher and Pigou
Neqey nmmiibd 1@
In the classical theory of employment (where S=Saving, [=Investment), which is correct ?
Q& MeTemn L0 GeuemeveUMUILIL] GHMTLLIMLIQ6TLLG HLpe eTemeummlev eTgl Fiflwimeorg ?
(S=G& A1 LnMmmMILD =W &6e5®H)

A : S=I — (Correct Alternative)
S=I

B: S#I
S#I

C: S>1
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S>1
D:S
S

Chose the comect answer :

(A) Statement: When increases, consumption expenditure also increases but by a
smaller amount

(B) Reason: As income increases, our wants are satisfied side by side, so that
the need to spend more on consumer goods diminished

giilwmen eflenLiTlens C&IHAS(HEHD -

(A) Gammi: GU(HLOMEITLD 2 WKHLGUTEH HISTeUF ClFAID 2 ILI(HLD ZH60TTED
(& 6DMEUTEIT SNETEUTSH G)(IH H(GHLD

(B) SITI6HOTLD: GU(BLOTEITLD 2 INHLDGUTS] HLD (LD ML I GHEMEUSHSIT 2_L_ 60T L[5S
Qainuiu@LD. esrGeal mIsT6| QUITEL ST LGTsT QFee] Gsmmb
SmenuTiIL(HLD.

A : (A) is correct and it explain (B) — (Correct Alternative)
A Fiflumentsl, B Sjeummlm & meot & iflWImeoT &ITTevorLD
B : (A) is not correct and it explain (B)
A Ffllmersevev, B 9eummlement Fiflwimss ellers&GHmSl
C: (A) and (B) are not correct
A LDMMILD B FiflWImerg6u6v
D : (A) is correct but (B) is not correct

A FflWMeTsl 94,6016V B & IflWImerss 6V 6v
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Chose the comect answer :
(A) When saving is more than investment, income falls

(B) When investment is more than saving, income falls
giliwumen ellenLwllener GHIHASH
[A) G (SO enL el SSSLONS E)(HSGLCUNSE] 6U(HLOTEITLD GDMILILD

(B) (P&e0(E. Caiitiemuail SHSLME G)(HSGDEUTS| 61(H DT @nmILILD

A : (A) and (B) correct
A lDHMID B Fiflwimeors
B : (A) and (B) incorrect
A ILDMHMILD B S6UMT6OTSI
C: (A) correct, (B) incorrect — (Correct Alternative)
A &F1fl B Beummeors!
D : (A) incorrect and (B) correct
A Sammerg B Fiflwmers)
Which of the following is based on the proposition of labour and product markets in Say's law of market

LY 60T6u (HeueoTel MMIGT eTemed G&ulletr 9mIs T ellHuleL Qsmdleumery WMHMID 2 MLISH)
IBIGTIgemnW SFnmefl&H M ?

A : Monopoly

whmiflenio
B : Oligopoly
FlevBeumy (MHmIflemLn

C : Monopolistic competition
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womiflenn GUITL LY

D : Perfect competition — (Correct Alternative)
Bleoy eyl GUITL_LY

The Real Balance Effect was propounded by
2 gooTemLD FLOBlenev allemeTe] G&HITL LML emL 2 (heuT&HSHIwell

A : J. M. Keynes
Ge2.6TLD. GH60T6MN
B : Don Patinkin — (Correct Alternative)
L_medT GLIL_Lq 60T &) 60T
C:J.S. Mill
Bgg.6161V. LAl6VL.
D : Milton Friedman
8l6vL_eor LAFL_GLoeor
In the classical range the LM curve is
QSHMETEMLD TLEMEVUIEL LM a6 en&GCHMB oy Glb.

A : Perfectly Elastic

BleNMEITET QBRLEFF 2_6mL UG
B : Imperfectly Elastic

BlenmalmMm QBHHLDEFF 2 6L LIS
C : Imperfectly inelastic

BlemDeUDD QBEHILEF DS
D : Perfectly Inelastic — (Correct Alternative)

BlenmeUTeT QBHLEFSF DM
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Principle of maximum social advantage

2 5 Blemevsd FUNSITUW [HEOTEMLNE G &HTETENSS

A : A. C. Pigou — (Correct Alternative)

AC. Y&
B:J. P. Say

JP.G&F
C: A. Musgrave

A. DNV T CTel
D : Cournot
G&HITH6OTITL

In India Silver Standard was implemented during years.

@b Wmallev QeueTerfls S L LD 1060160 @ IBHS 24,600T(H S61T:

A 1836 to 1894
1836 - 1894
B : 1835 to 1893 — (Correct Alternative)
1835 - 1893
C: 1834 to 1892
1834 - 1892
D : 1833 to 1891
1833 - 1891

"Bad money drives good money out of circulation", the words of

"Q&5L_L [HIT600TWLILD [H6V6V [HIT600T UG 6m &L L|LnE&H 55 6 [HH S sﬁlm_@@mgj" 6T6eOTM) S MUl 6U T
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A : Thames Greshems — (Correct Alternative)
SITLN6N HFagLd
B : A Musgrave
. LDV 6l
C : Crowther
ALl
D : Cournot
G&IT6OTITL

The Government of India has implemented the New Economic Policy in

LS W QUITIHETTSTT Q& TeTen & WITeTS!, @)\hHS U O J&THI8 STV

QEFEWWLILLLS.

A : 1991 — (Correct Alternative)
1991
B: 1990
1990
C: 1992
1992
D : 1998
1998

According to Samuelson Central Bank is
FMLNEVF 6T 6T6OTLIGUT D& W 6UMBIS 6m U @)6U6UTMI 6D HGOTMT :

A : A residuary monopoly of note issue

2 aTHITL () &THGLIeTD Qeueflulil(heuSlev LpmHmiflemin
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: A Bank of banker. — (Correct Alternative)

UGS W 60T 6UMBIH)

: The lender of the last resort

@M Blem6v &L_60T QULDMIEG LIGUT

: The Bank of government

S| JE MBI 5SS 60T QMBI

Most liquid form of money is
B & BN H60TemLN 2 _60)L_LI LIGUOTLD 6T6OTLIG) :

A

: Currency with the public and demand deposit — (Correct Alternative)

LIPSHHSH 0 @HSGSID &TH S Lietorld (nMMILD CSHemel 6n6lLlL

: Gold with the public and savings deposit.

I0&&6TILLD @ (hHSEGLD Smiss Mo CEFLAILIL] emeuliL]

: Cheque and demand deposit

HTCEFMem6V LDMMILD CH60rI6U 60)6ULIL

: Demand deposit and savings deposit.

G emel emalllL] Lnmmild GFLALIL] emeuLiL]

Money supply plays a crucial role in the determination of .

LieooT erflliemL

A

Price Level and interest rate — (Correct Alternative)

allemev 3j6Te] LDMMILD el 1 efsLlD

: Investment and saving

W565H MM GFLAlLiL

: Income and Expenditure
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6U(HLOITEOTLD LDMMILD Q1 &F6V6)Y
Export and Import

JHOINS IOHMID GMEEGIS

Interest rate structure is administered by

Il 1y &g gjemnLillener BlFeooruLiLS :

A

Direction of the Government — (Correct Alternative)

STEFMMHI&HSH 60T QUL &ML (H & 6960T LI

: Direction of the Finance Committee

B8 & el eullsmL (H&eNeorLiLg

: Direction of the Cabinet

Sl &FIemneluiler el s mLl (&6 6oLl

: Direction of the Budgetary Committee

aIre| QFeve] HL L &eller auldlamL (h&edleorLLg.

The Government enjoys complete monopoly in

& W WHDIFlend QUMD Slen :

A

: Import and export of gold — (Correct Alternative)

HHIGD @GM&EEGLS WHOID OIS

: Import and export of goods and services

LI600T L_MI&6T LoMMILD Lieoot1&6MedT gfMmmILnG) oM mIlD @M&GLnS)

: Agricultural Sector

GGUATITEO0T HI6HM

: Transport Sector

CUTHGUTSSIS Sl D
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Fiscal Policy is a tool to achieve :
BB & Q&HTETENS 6T60TLIG GLDEHG600TL 62(H CHMTHEHHMNS 3|60

A

Economic development

QUITIHETTSITI (LP6dT 60T M MLD

: Economic stability — (Correct Alternative)

QUITIBETITSITT [BleM6VE S 560T60)L0

: Economic recession

QUITIHETITSTT LI 6dTeoTemL6

: Economic growth

QUITIBETIMTSITT 6U6T &S

The taxation system in India consists of

@S wmailev auifl NGILIL (Wemm HLpE5600TL | (h) & & E6M6IT Q& T6ooTL_G :

A

One tier system

R AD &S MM

: Three tier system — (Correct Alternative)

eLNETM(H & & (P6BM

: Five tier system

BHSH &G POD

: Six tier system

ADHE&EG DM

Sales tax is levied on the :

allmUemeoT auif] eTedTLIG @) & 60T LIS NH&ESLILIGH S :
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: Purchase of a commodity

62(IH QUITIH6T 6UMHIGLD QUITWS!

: Consumption of a commodity

62(H QUITHEN6T HISKH[HLD QLTRSS

: Sale of a commodity — (Correct Alternative)

@ QUITIH6T e MLIemeT QWL QUTWS

: Production of a commodity

@ QUITIHET 2 MUGSEH QEwwliL(G0 QUTWS

Who is the author of book "Principles of public Finance" ?
QuUTE! BIG U6t GamL_LIML19 60T Q4G Il :

A : A. C. Pigou

AC. Vs

: Dalton — (Correct Alternative)

L_IT6VL_60T

: Malthus

LOIT6V & 61V

: J. M. Keynes

Geg.6TLD. H60T6M

The public expenditure on the construction of infrastructure is :
QUITE QF6V6)] &HL_L6MLOLIL] 6T6OTLIGI :

A : Incentives to private investments — (Correct Alternative)

el (&5 &emerT 26nd: G615 560

B : Control the public expenditure
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QUME QFevalleTmigemer &L (hLILI(H &S &6V
C : Unnecessary expenditure

BHemaULIMM G & 6v6) 60T RIS 6T
D : Effective expenditure

6l6meITeY 2 6T Q& 6V6Y

Fiscal policy as a means of promoting economic development of under-developed countries may have to play the role

BISUINWIL Q